An Annuity Example

Remember that the annuity formula for a principal P, an interest rate per term of j and a term n is 
[image: image1.wmf].

Example 1

Let us determine the value of a $600 investment per month for 30 years at an interest rate of 6% per annum. Firstly we convert the interest rate to a rate per month 
[image: image2.wmf]. We then calculate the number of months we will invest 
[image: image3.wmf] and then we can calculate the value of our investment after 30 years to be 
[image: image4.wmf]
Example 2

Let us merely increase our investment by $20 per month and see what happens. Our investment will now be worth 
[image: image5.wmf] after 30 years. That is an increase of $143  890.30 resulting from an increase in just $20 per month. 

Example 3

Now we will look at the result if we invest $600 at 6% per annum for 28 years. We will have 
[image: image6.wmf] after the 28 years. That is a difference of $81 531.94 for investing for 2 years less.

Again we see the power of compound interest illustrated.
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